1.Pay attention to the underlined pronouns in the text. Which of the following do they refer to?

1. they (intro paragraph)

a. numerous western nations b. Hollywood and Bollywood c. eastern nations
2. they (paragraph 1)
a. special effects used in movies b. Avengers c. marvels of Bollywood
3. they (paragraph 4)
a. Hollywood movie producers b. the global audience c. Bollywood movie makers
4. them (paragraph 4)
a. Bollywood movies b. Hollywood movie producers c. audience for Bollywood movies
5. it (paragraph 5)
a. Bollywood b. cinematographic style of Hollywood c. the film called 3 /diots

2.Do the following statements agree with the information given in the text? Write.

by,

TRUE if the statement agrees with the information
FALSE if the statement contradicts with the information 9
NOT GIVEN if there is no information on this 29

1. Hollywood is older than Bollywood and is named after a geographical location. ___
2. Hollywood and Bollywood are two film industries that have differences between one another.
3. Bollywood has surpassed Hollywood’s level of technical support. ___

4. Stars of Hollywood are more famous than their counterparts in Bollywood.

5. Bollywood movie producers have the easiest access to the global theatre. ____ E
6. Hollywood tackles various themes and issues, while Bollywood is centred on family, drama, and music. 5_
7. Bollywood makes more films, but Hollywood spends more on movie production. ____



